Infinetsimal Calculus 2 for CS - 89133
D2NYN %YWA NPIPND DY M MOINY , M) — 7 9991 799N

1 nYNVY

(0,0) '3 25123 ©»P NMINAN NVIPNAY ONNIPT

X% —y2
X2 2

Ty

f(xy)=

N

3
f(x,y):M 5

3% +2y
f(x,y):smxy.)
y
X%y
f(x,y)= g
(X, y) -~
X3 + xy?
f(x,y)=—; y4 0
X +y
2 NYNY

Max75 (0,0) NTIPI2 NMINAN NVIPNON NN PTHIND I ONN
NN NPNN PIPNNY T2 1N NTIPIA TN 1NN 1D OX

fx )=
3x—2y
f(x,y) =xycos——— .2
x> +y
2x°
f(x,y)=——
(x.y) 3x° +4y°
2 4
fxy)=>"Y 4

X4+y2 :



3 hHNY

: MINAN NVXPNN DY NPPONN MITIN IN YN

f(x,y) = xy+3x* -5y° x

f(x,y)=e*¥ a
f(x,y)=yx*+y* a
X
foy)=>-2.
y X
arctg—
f(x,y)=e 7 .n
4 NYNY

X’y
002 F(xy)=1x"+y? (x,y) # (0,0)

0 (xy)=(00)

PPN DY NPPINN TMITNIN NN VN

5 NYNY

nx PN (X, y) = y2sin(x® — y?) m8pnan » neomn
y2E, +xyf, = 2xf cxnwnn

6 DYNVY

Y fo=xf, =0 naxmwnn nxnovpn f(xy) = IN(X? + y?) ¥pNan » N



